## Anx B - Work Completion Réport

		Date:			Date:		Y	+	Date:
		Sign:			Sign:				Sign:
D team	Approved by Director/E&D team	Approv			Approved by QS team			Approved by project manager	Approved b
							-		Remarks:
k done 26,106	I otal amount including taxes for work done	t includ	Total amoun						
Total 26,106									
									10
								9	
								00	
									7
		. :						6	
1.75 8,702	PT104	sft	4972.59 sft			2nd coat painting	• 8	4th floor	
1.75 8,702	PT104	sft	4972.59 sft			2nd coat painting		4 3rd floor	
1.75 8,702	PT104	sft	4972.59 sft			2nd coat painting		1st floor	
								2 From 1-5 and 14-17	
							at painting	Block-A corridor 2nd coat painting	
Rate Amount	Rate ID 1	Units	Qty		Details of work		no	Unit/floor no	SL No.
	GST bill required?	GST bil			Contractor bill no.				WO date
	ued?	WO issued?		25-10-2024	Work done to date				WO no.
	M-codex bill ID.	M-code		20-10-2024	Work done from date			Block-A & Block-B	Block no.
05-11-2024	Dt. site bills reg.	Dt. site		Painting	Nature of work			GHT	Project/site
117 03	Sl. No. site bills reg.	Sl. No.		Laxman	Name of contractor			MMRK LLP	Company

be entered above. 5. For bill amount greater than 10k OS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sigh of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + 10 Me) (10 Me) (20 M

MEAS	MEASUREMENT SHEET								
Compa	Company Name:	MMRK LLP		Approved by:	d by:	Surech			
Project:	t:	GHT		Sion:	50	Our com			
Work	Work Description :	Corridor painting		Work start date:	rt date:	10-10-2024	24		
Contractor:	actor:	Laxman		Work end date:	d date:	20-10-2024	4		
Prepar	Prepared By:	K.Praveen		Date:		05-11-2024	24		
			A	В	С	Œ	E=AxBxCxD	T.	G= Sum of F
S No.	Item Head	Item Description Length	Length	Width	Height	No's		units	Item Head Total
	Block-A corridor 2nd coat painting								
	From 1-5 and 14-17								
	1st floor								
	Walls	2nd coat painting	447.25	1.00	9.00	1.00	4025.25 sft	sft	
	ceilling	2nd coat painting	215.33	6.41	1.00	1.00	1380.27 sft	sft	
			22.00	10.00	1.00	1.00	220.00 sft	sft	
	beams	2nd coat painting	6.41	3.00	1.00	9.00	173.07 sft	sft	
			10.00	3.00	1.00	1.00	30.00 sft	sft	
									5828.59
	Deductions	windows	6.00	4.00	1.00	13.00	312.00 sft	sft	
			4.00	4.00	1.00	3.00	48.00 sft	sft	
		Door openings	8.00	5.50	1.00	9.00	396.00 sft	sft	
			5.00	2.00	1.00	10.00	100.00 sft	sft	
									856.00
									4972.59
	3rd floor	2nd coat painting	1.00	1.00	1.00	1.00	4972.59 sft	sft	4972.59
	4th floor	2nd coat painting	1.00	1.00	1.00	1.00	4972.59 sft	sft	4972.59



Company Name:	MMRK LLP					Approved By		
Vork Description:	GHT			. ,		Suresh		
repared Ry	Ravichand Machigaya							
Il Date:	Praveen.K							
No.	05-11-2024							
	Item Head	Item Description	0	77				
	Lower basement staircase	shahabad stone laying	Quantity	Units	Rate	Amount	Item Head Total	Remark
		landing granite laying	1000.00	P. Colonia	11.50	11,500.00		Kemari
		land'	150.00		25.00	3,750.00		
	1 - Pper and lower basement staircage	granite patti near staircase entry	65.00		25.00	1,625.00		1
	Lower basement B-block lift steps	thread			25.00	2,023.00		+
		Raiser	56.00		25.00	1,400.00		+
		chamfering+polishing	56.00		25.00	1,400.00		+
	- one expansion joint	granite patti laying work	56.00		25.00	1,400.00		+
		chamfering living work	210.00		25.00			-
		chamfering+polishing	210.00	rft	25.00			



## **Labour Charges** Laxman KOWKUR Hyderabad

Date: 05.11.2024

In favor of:

MMRK LLP

Project/Site:

GHT

Location:

Kowkur

Type of Work: Painting

Towards:

Labour Charges

S.No.	Discription	Amount
1	Breif discription of work: Towards A-block corridor painting work of 1st,3rd &4th floor	r 2nd coat 10,442.40
	Total amount: 26,106.00	10,442.40

Amount in words: Ten thousand four hundred fourty four rupees only /-

## **Allowance For Consumables** Laxman KOWKUR Hyderabad

Date: 05.11.2024

In favor of:

MMRK LLP

Project/Site:

**GHT** 

Location:

Kowkur

Type of Work: Painting

Toward:

Allowance For Consumables

S.No.	Discription	1.
1	Breif discription of work: Towards A-block corridor 2nd coat	Amount
	painting work of 1st,3rd &4th floor  Total amount: 26,106.00	5,221.20

Amount in Word: Five thousand two hundred twenty one rupees only/-

C.	
Sign:	
- B.I.	

## **Allowance For Equipment** Laxman **KOWKUR** Hyderabad

Date: 05-11-2024

In favor of:

MMRK LLP

Project/Site:

**GHT** 

Location:

Kowkur

Type of Work: Painting

Towards:

Allowance For Equipment

S.No.		Discription	Amount	
1	Breif discription of w	ork: Towards A-block corridor 2nd		
	coat painting work			10,442.40
	Total amount:	26,106.00		

Amount in Word: Ten thousand four hundred fourty four rupees only /-

Ciam.		
Sign:		